1. XEERITRR (FHTEIAND)

XHAR | XHRH XHE-NEF E# (M)
3A6H ZToftt  |(BEAMNBBEERREERSOHR 29,700
3A6H ZToft (MITRHERBELOEROH 3,000
3A13H Bl | 2EERBERERMERASIENEIOFT(ERERFUR) 16,500
38138 B |SEEEE ERASBEORFER) 3,500
3A13H FE  |WHERE FE-SRIXOH (#1E) 17,600
3A13H BH | REREREZOH (ETERFUR) 16,500
3H27H Bl |ER-RERESEOH (FEM) 15,000
& F 101,800




2. B FH(SHxER)

XHES | (RS | REtEHH | 2E(EZAD) REt &
= & 0 21 0 126,500
53 i 4 24 51,500 206,770
B sl 1 14 17,600 143,650
R g 0 0 0 0 0
g € 0 2 0 10,000
BB £ 0 2 0 288,000
T O fth 2 28 32,700 340,796
a & 7 91 101,800 1,115,716




